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L ﬁgﬁﬂwmaﬁ‘rﬁq
56, 58, 62, ?, 86, 118, 182
.(A) 68

(B) 74

€ 72

(D) 70

2, b vl A fifvrg
551225 5=115
A) +-+
(B) —-x+

(C) ++x

(D) +x=+

3.

(A) 12

(B) 18

©) 24

(D) 28
TRS/MI/2022

(C)

w uel o fime @ gg 1-5 ol &t B | sEeh

A 40 fire & freft gff o el 2 2
(A) 528 Tt
(B) 628 &ft
(C) " 7-28 Tt
(D) 428 &f

W % 52 T o et AW A

w g e R | AR y_e wium awm
¥ ¥ Ov9 @, o e 1w f T

13

(A) T

11

(B) )

12
13

13
17

(D)
Pt sl A wiom T AR
3,9, 5,_ 3,12, 10, 18, 4, 7, 19, 21

(A) 9

(E;) 10

(C) 12

(D) 18
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3.

o)

Find the missing number :

56, 58, 62, ?, 86, 118, 182
(A) 68

(B) 74

©) 72

D) 70

Fill in the blanks :

'55__12__25_ 5=115

A) +-+
B) —-x+
(C) ++x

(D) +x+

Find the missing number :

6 |12 X
5 \J/ 8
\ 2/ IN\20

A4 12

(B) 18

€ 24
(D) 28

TRS/11/2022

6.

(3-A)

The minute hand of a watch is 156 cm
long. How far does its tip move in

40 minutes ?
(A) 528 cm
(B) 628 cn:;
(C) T728cm

(D) 428 cm

One card is drawn ﬁ-'om a well-shuffled
deck of 52 cards. If each outcome is
equally likely, then the probability of the
card not being an ace will be : .

13

12

1

13

12

13.

13
17

(A)
(B)
(€

(D)

Find the median for the following data :
3,9,5,312,10,18,4,7, 19,21

(4) 9

"~ (B) 10

(C) 12

(D) 18
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(A) 2,4 ? 1 Y T F @ 9wl H B URER WA F
(B) 5,81 . foIe meam =Rd € | W W B I T g
(€) 4,16 ' &1 IR A T{H T G 2
(D) 2,25 | :

(A) 7968 TRF IR REH W W ANET W
- amika §, 33 R A § w9 WY
8. foea wem s Afve ufEr frited @ om=at dga ot Shad-w
? |13 [ 49 ' C # gUR & R ¥ wwsm i |
9 1769 :
13 | 11 | 59 (B) R & faurg oft &=l % oW ¥ @t a7
& 9 I G G |
B 5 (© whaw fei el ¥ s & T
<c 7 | ' £ SeaTed 3 )
D) 11 - ‘

D) & S R @ wan f F

9.'ﬁm%ﬁaﬁq@m/ﬁﬂmﬁﬁ§qﬁﬁm R, TR A @ A § A

i - et 0 e e |
9:90::12:7 _
(A) 160 ' ' . |
B 156 12. 1 9=afl, 1995 &t daar o1 | 1. 5Had, 1996
¥ fe1 gar 1 v fm @ 2
(C) 184
(D) 142 . '(A] e
10. forgw e @ i : o (B) WHaR
4,6,6,11, 8, 16, 10, ? '
(A) 10 . (©) wfEr
(B) 18
© 21 : (D) WeER
(D) 23
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7. Find the missing numbers :

9.

10.

TRS/T1/2022

-(A) 9

37+ 7 —(2%=10

A) 2,4
(B) 5,81
©) 4,16
(D) 2,25

Find the missing number :

7113
9 (17
13| 11

49
69 |
99

B) 5

(© 7
D) 11

In the following analogy, find the missing
number :

9:90::12:7
(A) 160
(B) 166
(C) 184
(D) 142

Find the missing number :

. 4,6,6,11, 8, 16, 10, ?

(A)
(B)
(C)

10
18
21

(D) 23

11.

12,

(_,S—A)

https://www.pyqonline.com

You are incharge of implementing the
family planning programme in an area

where there is strong opposition to the

“present policy. You want to convince the

residents of the need for keeping small

_families. What would be the best way of

communicating this message ?

(A) By showing Nukkad Nataks and
plays related to this issue and
afterwards logically explaining the

_ need of family planning to improve
health and living standardjs.

By encouraging late marriages and

(B)

proper gap between children.

(C) By offering incentives for adopting

family planning devices.

(D) By -asking ‘people who aré already
using family planning methods to

directly talk to residents.

‘1% January, 1995 was a Sunday. What

day of the week will 15t January, 1996

‘be ?

(A) Sunday

(B) Monday
(C) Saturday

Tuesday
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13.

mwwwﬁa%ﬁ%:ﬁﬁwﬁmﬁ
Pl A ghud swes wER § Wb
ARFR § | AT W EE W S TR,
A 3 T FR TEd BN A @ wR

SR TG ¥ |y w2

14.

(A) mﬁmﬁmﬁamwﬁﬂ
* HETan |

(B) ¥ aReR arft g faeht gt wafi |

fors &0 =t w5 |
(C) ARG ¥ FR P &M T 2 |

(D) W& T WIS GO Tl e e o fanedt
IR FH i vga T HA

A% W TH A i 2 el o il
Tl ot Reedi FROT B aeie A T TIH
H1E IqAY T8I HAT Il AR 9 e
I S B @ R F o e o
TTEAT B | 39 aRE &1 3 AR H G H

gftenior ST gU oM @ A 2

TRS/11/2022

(A) Tt & whm & g we |

(B) e gl 0 g R ¥ faw wR
axﬁ:ﬁ?ﬁnmwéwma:ﬁ?ﬁqga
4 |

(C) $9 & 39 TE ¥ 3 g e
g i |

(D) Tw s R FE@ B T W IO
wishaTas el Y sFEET 4l |

15.

16.

17.

(6-A)

A i v R e # Rl o womar 2 1R

IR ooy fRu e € | w0 B Sfaa wmEer T

W= g |
firere, Fagl, TEheaid,

(A) M=

(B) ¥m

(C) #qH

(D) dw

3N UF THH g W € | I A9 oEd
5 s afts vt g ww A & frooman @
Y I T W g ¥ e @ @ § o 7w
e A g e s 2 s sa @ 2 | o
T H 2

(A) Tt ¥ HTHR T R H 99 U &
st i suafs R g s | -

(B) -G HO1 i A UgA ¥ & o
g

(C) ¥ 7o W Tge % 9 gigat i
HeFel B I Q1 | '

(D) ;Ha%%%qmﬁmﬁﬁaﬁtgqréﬁl

Freafofas aviaren 6 Aoft # v w=i @R R
ﬁﬁqm%ﬁq‘iﬂ@wmaﬁnﬁ%
foe o 1 g |
NY, OX, PW, QV, RU,
(A) FS '
(B) ST
(C) VF
(D) TA
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13. You are the officer-in-charge for providing

14.

basic medical facilities to the survivors of

an earthquake affected area. Despite your|

efforts, make

allegations against you that you are for

best possible people’

making money out of the funds given for

relief. You would
(A} set up an enquiry committee to look
into the matter.
(B) ask -your senior to appoint some
other person in your place.
(C) not pay attention to the allegations.
(D) stop taking any initiative till the

matter is resolved.

You have come across a case wherein an
old poor person is unable to submit his

ration card for some reasons and wishes

to claim the ration to meet his basic/

necessities of life. Knowing your superior’s
approach in ‘handling these issues,
you . '

(A) go strictly as per the procedures.

(B) take initiative to help the poor man

by arranging an alternative ration

15.

16.

17.

Three words are given below. There is
something common among them. Four
alternatives are given below. Choose one
which shows the similarity.
Cricket, Kabaddi, Basketball,

Tennis

(A)
(B)
(©)
(D)

Team
Field

Game

You are travelling in a bus. Suddenly, you
see that a person has just fallen from a
moving bus. You are getting late to reach
your destination and the bus is already
moving behind schedule. What will you
do ?
(A)

1

Immediately ask the conductor and
driver to stop and will try to help

that person.
(B) Ignore it as you are already late.

(CY Inform the conductor and driver

_after reaching the destination.

(D) Pray for that.person and remain

silent.

In the following alphabet series, there is a
blank space. Choose "one from the
alternatives given below to fill up the

blank.

o card o NY, OX, PW, QV, RU, .
. (C) qssist the poor man with some ( Aj ¥S
money of your own.
' C (B) ST
(D) avoid some procedural steps since
you understand the necessity of the ) V¥
poor man. (D) TA
TRS/11/2022
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18.

19.

TRS/11/2022

o % 3o W U §, Rl 3 w @
Sie bl geft g fasie e § | A

g 1 g |
(A) BEH
(B) CFI
(C) DGJ
(D) EHL

A el fofr @ wgw o @, @

gmye % fau om f=fafen fawedt § @

S T ?

(A) Trg=aal Y1

(B) fowedt =t = W foa w& g

(C) ey forg faols R & foe forelt ok )
FE

(D) wft fohedi & wrae AR FFaH $
TR, T T

20. Ru 7 faredt # @ g qumar aen T

g |

- g oomm o2
(A) e

(B) TwA .

(C) T
(D) T9E

21.

22,

23.

24,

(8-A)

T AT T IRET S §U O ufgen 3 ww
“ag At A 6w F bl @ R | 5@ ARen
T 39 gl | = e R 2 -

(A) w
(B) wofi
(C) =&

(D) it

asmgﬁmaqg%mmﬁmm '

TR T 2 |
A f&@

(B) Hr@
(C) e
(D) W&

ﬁ%wwmww%?

(A) 1,3,4,5,2
(B) 2,3,4,51
(C) 4,5,3,1,2
D) 1,4,2,3,5

g yor ‘Fiow Tl @ w=fe 8, st
TR Ee ¥ gafia B |
(A) elaX

(B) T

(C) <=

(D) wlw
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18.

" (B)

19.

20.

24.
;. (A) Haryana
(B) Rajasthan
(C) Gujarat
(D) Punjab
TRS/I1/2022 (9-A)

Few groups of alphabets are given which
share a common feature except one.

Choose the odd one.
(A) BEH R
CFI

(C) DGJ
(D) EHL

If you could not make a decision, which of
the following alternatives would you

choose as a solution ?

(A) Choosing at random

(B) Write options on slips and pick one

(C) Ask someone ;else to make the

decision for you

(D) Listing the pros and cons of all

options, then choosing

Find the related analogy from the given

alternatives.

Bihu : Assam :: Garba :?

-

22,

23.

1
2
3.
4
5

21. Intfoducing a man, a woman said, “He is

the only son of - my mother’s mother”. How
is the woman related to this man ?

(A) Mother

(B) Aunt (Mami)
(C) Sister

(D) Niece (Bhanji)

Choose the word which is least like the
other words in the group.

(A) Day

(B) Date

(C) Calendar
(D) Month

What is the best sequénce of the following
given words ?

Birth
. College
Job
School
Salary
(A) 1,3,4,52
B) 2,8,4,51
© 4,53,1,2
D) 1,4, 2,.3,5

As ‘College’ is related to ‘Student’, in the
same way ‘Hospital’ is related to :

(A) Doctor

(B)
(C)
(D)

Nurse
Medicine

Patient

htt;}s:!lwww.pyqon]ine.com a
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25.

26.

27.

TRS/11/2022

" (B) HEEM F HRO WAL B4 |
(0 39 & wewil ! wgen & g FwaN |

few m
RIEL
DETERMINATION

(A) NOITANIMH3ITIQ

(B) MOITAVIMASTIQ .

(C) NOILYNINY313Q

(D) WOILYMINYILIQ |

Y UH THEEG YR W OHEM W R B
ofEemT i giften HfE §F anewt 7w DA
% @ ugel & medm & wnv g
T W T § o | ey w7

(A) 3@ F TSl & ITH SWEAm & fau
et 3 |

fapedt & frffad weg &t gl

v

(D) wfErT i Jug diar wge i A wa,
' ST T FATEN 4 ] |

ﬁmﬁaﬁmwﬁl%ﬁqqmﬁ‘ﬁqnq
| & St R W TR W
#Hfom:

(A)

(B)

©

(D) §
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26, fau o % w7 A ok e

29.

30.

qme ? _
Rt TR A, e Heh

O
» ©)

®) c@)
© oo
>

ﬁqwﬁﬂﬂq@.(ﬁz)mﬁﬁm
qufm 8, 31 & wery ol amen ¥ 9 fio
T faedt 3 & g | |

| foreeft « A« Spam
, (A) I : Eifes : THee

(B) O : WUl : W
(C) e : faeilsh - Mfieen
(D_) Hﬂ?‘{q:a‘h:a:q

S 39 B T F@ A0 R, G B I F@
ST B, $FEX B B gl Tl 8, HN H TR
@l A 8, Thel P UEhh Fa I 2 ik
e B ANE FE 9 R, @ Qd St F
fore, forment seimmer foram rer 2 9

(A) T :
(B) #W
© &
(D) ¥
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25.

26.

27.

e

i[x]

From the given alternatives, choose the
mirror image of the following word :

DETERMINATION

(A) NOITANIMH3TIQ
(B) MOITAVIMAITIQ
(C) NOILYNIWY3L3Q .
(D) MOILYMINYZ13Q

You are handling a time bound project.
During the project review meeting, you
find that project is likely to get delayed
due to lack of cooperation of the team
members. You would

(A) warn the team members for their
non-cooperation. '

(B) look into the reasons  of
non-cooperation. -

(C) ask for replacement of team
members.

(D) ask for the extension of time citing
reasons.

Complete the missing segment of the
following figure, selecting the appropriate
figure from the given alternatives :

28.

29.

]

Identify the diagram that best represents

the relationship among the given classes :

Job, Government Job, Private Job

(4) @O
(B) @7 -

O
ole

(D)'I

Select the alternative in which the words

(©)

share the same’ relationship as that
shared by the given set of words.

Cat : Lion : Jaguar
{(A) Shark : Dolphin : Bat

‘(B) Sport : Athlete : Javelin

(C) Monkey : Chimpanzee : Gorilla

? (D) . Reptile : Snake : Toad
(A) ‘ . ,
30. If train is called bus, bus is called tractor,
' ] ' - tractor is called car, car is called scooter,
(B) scooter is called bicycle, bicycle is called
moped, what is used for ploughing field ?
(®) (A) Bus '
- (B) Car
(D) § (C) Train
L (D) Tractor
TRS/11/2022
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31. wfagfe (Fieds) w2 : 84, b frgra warn @ 5 saft gadl ¥ 71 &
) T | e I G 7
& (A) wediehTener 37a:frarag Rigra

B) ififeaaa & =it &1 g
I(B)mﬁﬁqu{mﬁ%a’éﬂﬁaﬁ (_ N e
SR a1 sfefsear © fegra
, (D) oo 3ger figra
(C) W9R T weuv % @y A wem.d ‘
T S |3 @R e g @ v % e i R
(D) S A ¥ & §aW A § W A @ 3R ST e hY W e we R 7
R () e b Rugra
- . (B) wmiise aAfirm firgr
(C) s=m whwa fagma

32, .ﬁmgﬁamwm%?
(&) 7R T R T AR R 5 .
. & 36. WitHicw Guar 41 8 ?

(D) mwﬁ@a

(B) mﬁt@ﬁ%éﬂ?ﬁﬁmﬁaﬁﬁﬁ (A) ¥m, wepled [t W favawt @
0 & s S FHGT ST G T

(B) i agl #1 e S

(©) ww gt =) Frife w0 6t _ _ .
(©) st wivghe Frearsi ol qe F

WIECR R R R AT
e | ) o e et @ e @ agm
wd rfiedr
33, e 3 s 4 " sr, et et 42
(A) s, T35t (), iyt . (A) o FuEF A ol
(B) s, ¥ar (49), freftav/smarat | (B)'?ﬁfﬁ%%gqg%ﬁhﬁt{%wmq;
| SR
©) e v, (C) il & g i W i
(D) o, S, w3 e

TRS/11/2022 . ' (12-A)
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31.

!

32.

33.

TRS/11/2022

What is feedback ?

(A) Information or reépunscé proirided in|

. response to'money or goods

(B) Information or responses provided in
response to physical touch or
gestures

(C) Information or responses provided in
response to commuhication or
performance

(D) Information or responses provided in

response to fear or pressure

What do you mean by . emotional

intelligence ?

(A) The ability to understand and

manage your own emotions
and

(B) The ability to understand

manage your own emotions and

emotions of others

The ability to control your own

emotions

(D) The ability to influence people with

your emotions

What are three main components of

communication ?
(A)
(B)
(&)
(D)

Sender, Touch, Receiver
Sender, Money, Receiver
Sender, Message, Receiver

Sender, Postman, Receiver

34.

35.

36.

37.

(13-A)

Which the.ory suggests that individuals
disclose personal information increasingly
as they develop relationships.?

(A) Symbolic Interactionism Theory

" (B) Uncertainty Reduction Theory

(C) Social Penetration Theory
(D) Expectancy Violations Theory

Which communication theory explains the
process of sending and receiving messages
between two people ? :

(A) Social Exchange Theory
(B) Social Learning Theory

(C) | Communication Process Theory

. (D) Communication Accommodation

Theory -

What is cultural competence ?

(A) Understanding and respecting
differences, cultural values and
beliefs

(B) Ignoring cultural differences

(C) Imposing your own cultural beliefs
and values on others

(D) Promoting and prioritising your

personal beliefs and values

What is a cultural stereotype ?

(A) An overstatement about a group of
people

(B) A positive representation about a

group of people

(C) .An accurate representation about a

group of people

(D) An overgeneralisation about a group

of people '

https://www.pyqonline.com
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38. wumqfaFR ?

39.

(A) <@ =l &t maAreT it wwgrn ofk "
T

(B) g&k =it % FEl B Gz
() W =  faemi = g

(D) |9FT AR TH FET

smfear (g3ufifan) @ & 2

(A) vty @ TwEEE ad e
foam, wernalt o Rvami 9t & v

(B) mmanﬁaﬂ%ﬁaﬁmsﬁaﬁt
forvarat =) =16 e

(©) Pferr &1 4 o Rewl, Wl sk
forvarl 9t = FE

(D) o fomri, wemel oft fvaml =
TR | Sk HET

40, qEHT G IR 2

TRS/11/2022

(4) M & g R
(B)ﬁﬁnxnﬁ&gﬂw
(C) welt-zif& % arg g7
D) Sofw A P

X¥7 7. 41 - 45 (FTaor-1 T senfia)

FHI-1

fefoiea gm & TR I ok wm F@ F @
d mgap sew fhe § S SR @@ s,
it FIR W W € | weR et Rt
A 8w e ok gen s o | gl
AR i Sk e TR 3 A
e 91 % @ g i 9N, AR v

3 guiear nfffiat @ Sifew war g )

T 3 Fiid fefent feamse R Fored e
et ofk g wEw W w9 A Ria
T 3 | 36 Toan, Al F s 7 w=A O,
wE A s 4 g Wt 8, o diag
FERTATE, AR w0 T Wl E |
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38.

¥
-

What is erﬁpathy ?

. (A) Understanding and sharing another

person’s feelings ‘

(B) Understanding another person’s
actions

(C) Understanding another person’s
thoughts \

(D) Understanding and doing charity

What is assertiveness ?

40.

11

(A).- Expressing your thoughts, feeli;lgs
and beliefs in a peaceful and

respectful manner

(B) Expressing your thoughts, feelings

and beliefs in an aggressive manner
(C) Expressing your thoughts, feelings
and beliefs in a passive manner

(D) Expressing your thoughts, feelings

‘and beliefs in a profound manner

What is active listening ?

-

(A) Listening .with attention and
understanding
'(B) Listening without paying attention

(©) Listening while multi-tasking

Questions No. 41 - 45 (Based on
Passage-1)

Passage-1
The digital age has brought about
significant changes in how we live and
work, presenting both challenges and
opportunities. One of the most significant
challenges is the issue of privacy and

* security. With so much personal financial

information being stored and shared
online, there is the risk of identity theft, '
cyber bullying and other malicious
activities. :

Another challenge is digital divide,
where access to technology and internet is
not evenly distributed. This can lead to -
disparities in education, job opportunities
and access to information, perpetuating
existing inequalities. '

On the other hand, the digital age
has also created opportunities for
innovation and growth. The internet has
made it easier for businesses to reach new
markets and for individuals to connect and
collaborate with people around the world.

It has also enabled the development of new

technologies such as Artificial Intelligence
and Blockehain which have the potential to
revolutionise industries and improve our
lives. However, the increasing reliance on
technology also presents new challenges,
such as threat of automation and job
displacement. As machines become more
capable of performing tasks that were once
done by humans, many workers may find
themselves unemployed or in need of new

(D) None of the above skills to remain competitive in the
‘ workforce.
TRS/11/2022 (15-A)
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Furthermore, the -digital age has

. also brought new forms of social and

political challenges. The rise of social
media has created a platform for spread of
misinformation and propaganda leading to
erosion of trust in institutions and the rise
It has also
presented challenges for governments in
terms of regulating content and protecting
free speech.

To address these challenges and

capitalise on the opportunities presented

by the digital age, individuals, businesses
and governments needs to work together to
ensure that technology is used responsibly
and equitably. This includes investing in

infrastructure to ensure that everyone has

access to Internet and digital tools, as well.

as implementing regulations to protect
privacy and security online. It also
involves investment in education and
training to prepare workers for the

changing demands of the workplace.

41. What is one of the opportunities presented

by the digital age ?
(A)

Spread of misinformation

(B) Rise of popular movements

Development of new tﬁcﬁnulog‘ies

(®)

(D) Reduction of job opportunities

43.

45,

(17-A)

42,

What is,one of the challenges presented
by inereasing reliance on technology ?

(A)
(B)

The reduction of social media use

The threat of automation and job
displacen;ent

(€
(D)

The increase in manual labour jobs

The " decrease ‘in demand of skilled
workers

What:, is one of the remedies to address the
challenges and opportunities presented by

the digital age ?

(A) investing in infrastructure to ensure
that everyone has access to the
Internet and digital tools

(B) Promoting"  the spread . of
misinformation

(C) Reducing job opportunities

(D) Limiting access to technology

What is one of the significant challenges
of the digital age ?

A)
B
©
(D)

Lack of job opportunities
Cyber bullying '
Increase in political stability

Reduction in social media use

What is the digital divide ?
(A} Uneven distribution of access to
technology and internet

(B)

The division of people based on their
opinions on technology

(&)
(D)

Uneven distribution of access to food

Division of people based on their
income. :
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Questions No. 46 - 50 (Based on Human health is also affected by
Passage-2) :

[=1

climate change as extreme weather events
Passage-2 can cause injury, illness and death. Heat

- waves in particular are a main threat and
In recent years, there has been a P '

growing concern over the effects of climate are expected to become more frequent and

change on the global ecosystem. Climate intense in the coming decades.

change is caused by the increase in Additionally, air pollution which is
greenhouse gakes, such as carbon dioxide exacerbated by the use of fossil fuels can
which trap heat in the = Earth’s cause respiratory problems and other
atmosphere. This results in the planet’s health issues.

average temperature rising which leads to
Finally, climate change also has

significant economic impacts. The cost

One of the most notable effects of associated with repairing and rebuilding
climate change is the melting of polar ice |~ '

various negative consequences.

infrastructure damaged by extreme

caps which leads to rising sea levels. This weather events can be enormous and can

threatens low-lying coastal areas and . :
ying - have a significantly adverse impact on
local economies. Additionally, the effects

of climate change on agriculture can lead

island nations, as well as causes more
frequent and severe, ' flooding.
Additionally, the warming of oceans leads
to an increase in the frequency and to food shortages and price rise.

severity of hurricanes, typhoons and other -

extreme weather events. , 46.  What is the most notable effect of climate
. . .change?
Climate change also has a significant (A) Warming of oceans

impact on the world’s wildlife. As '

. . ' (B) Rising sea levels
temperatures rise, many species are
forced to migrate to cooler regions or risk (C) Migration of species

extinction. This can lead to significant (D) Increase in extreme weather events

disruption of ecosystem and loss of '

important biodiversity. For example, coral |47, What causes climate change ?
fs 4 rticularl

| reefs arle particu gry vulnerable to (A) Melting of polar ice caps

changes in temperature and acidity and - : '

the decline of these important habitats {(B)  Increase in greenhouse gases

_ can have far-reaching effects on marine (C) Rising sea levels
ecosystems. ' ' (D) Extreme weather events
TRS/11/2022 o (19-A)

https://www.pygonline.com


https://www.pyqonline.com/

= 3[=
e

48.

Serary yitadd Tra W St FR wfed w5
2.7

(A) ag WISH ! Y 1 HRO a1 8

‘-(BJuausﬁrqsf@a-ﬁﬁum%ww

49.

HIT F41 2

(C) 38R AT W, THAHS THE IS
g .

(D) @ VOO RN T I WA
Tl T HRU 4T B

STy dhe & o 3 yafe gt
27 | |
(A) Sta-fafevan & Jha &

(B) WeIRE % AT &

50.

(©) o v ) et # g

(D) = Haw 6 wersh ¥ afiwe gfieEd
g ! g o g 6w @

vara il | Soey ofeds &1 w1 e

qEd R ?

TRS/11/2022

&) vare il gomg & wwh &

mmemmﬁﬁwm
it w =I5 w7 g

SHEE R AHAE

vare fufat § eiftres fafawar andt 2

(B)

(&)

(D)

o1,

T Gihlds Wl § ‘MOUSE’ &1 ‘PRUQC
forar mar | 9 ‘SHIFT & 36t giebfaes wm
# forar sme -
(A) VKIDR

(B) VKIRD

. (C) VJIRD

52,

a3.

(20-A)

(D) VIKDR

T W TG IH YA H A A TR
afe 20 o qd #i Y 37 g Hi 7G H 10 TN
oft, t 7T < FdwE Y w1 G ?

(4) 38w
(B) 40=9
(C) 43ad
(D) 45a%

o fifvwd fag @, A @ B faadia foam # =erm
T F & ] A, 5 Tt qn B, 7 fomft wreram
2199 A T¢ ge 8 Tonl wern B, wafh B
a1 gga 3 fft <o @ | @ TRGR A
RwE? '

(A) 11feht

(B) 12 fh

(C) 13 et

(D) 14 Reft

https://www.pyqonline.com


https://www.pyqonline.com/

EYE
She:
48. How does climate change affect human|51."
health ? |
(A) It causes food shortage
. (B) It -causes loss. of important
biodiversity
(C) It causes negative impact on
economy
(D) It causes respiratofy problems and
. other health problems
52,
49. How does economy get affected by climate
change ?
(A) Due to loss of biodiversity
" (B) Due to migration of species
(C) Due to increase in extreme weather
events
(D) Due to cost of repairing and|
rebuilding of infrastructure damaged
by extreme weather events
53.
50. What is the impact of climate change on
_ Coral Reefs ? '
(A) Coral Reefs become stronger
(B) Coral Reefs do.not get affected by
changes in temperﬁtur_e and acidity
(C) Coral Reefs become more vulnerable
and can decline
(D) Coral Reefs become more diverse
TRS/11/2022 (21-A)

In a code language ‘MOUSE’ is written as
‘PRUQC’. So ‘SHIFT’ will be written in
the same code language as:

(A) VKIDR

(B)" VKIRD

(C) VJIRD

(D) VIKDR

A mother is twice as old as her son. If
20 years ago the age of the mother was
10 times the age of the son, what is the

present age of th\e mother ?
(A) 38 years
(B) 40’}&\&1—5
(C) | 43 years

(D) 45 years

From a fixed point, A and B start walking
iﬁ opposite directions. _A covers 5 km and
B covers 7 km. Then A turns right and
walks 8 km, while B turns left and walks

3 km. How far are they from each other ? i
(A) 11km

(ﬁ) 12 km
© 18km

(D) 14km
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(A) 88 (A) ¥ 3,003
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©o200Mi® ¥, www: d0fef/em w@| L g '

. 50 feh /e 1 & gEt s faata R
R TR e A Y g AW (A) 23
o 2 | |
(A) 16 FHS (B) 25
(B) 17 9%vE © 27
(C) 18 5%vg
(D) 15858 (D) 21

TRS/11/2022

(22~A)

https://www.pyqonline.com


https://www.pyqonline.com/

54.

" (C) 108
(D) 94

55.

56.

a7.

* long are running in opposite directions at| ’
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(D) 28

A man and a boy together can do a certain
work in 40 days. Their work skills are in
the ratio of 8 : 5. How many days will the
boy take to finish the same work ?

(A) 88
(B) 104

In a month of 31 days, if the third
Thursday falls on the 15, then the last
day of the month will be :

(A) Fourth Friday
(B) Fourth Saturday
(C) Fifth Friday

(D) Fifth Saturday

A person has a few hens and cows. The
number of their legs is 140 and the
number of heads is 48. The number of
hens will be ;

(A) 22 ‘ ’
(B) 24

©) 26

Two trains 180 métres and 200 metres

the speed 40 km/hr and 50 km/hr
respectively. In how much time will they
cross each other ?

(A) 16 seconds
(B) 17 seconds

(C) 18 seconds

(D) 15 seconds

58.

59.

60.

(23-A)

)

(B)

Sohan bought a cocﬁer' for ¥ 3,333
including the sales tax of 10%, What ‘was

the price of the cooler before sales tax was
added ?

(A) % 3,003
(B) = 3,033
Z 3.300

(D) % 3,030

IfA:B:C=2:3:4,then

=7

A B C
B A

Qlw

(A) 8:9:12
8:9:18
(C) 8:9:24
(D)I 8:9’:28I

The average of three consecutive odd °
numbers is 16 more than one-third of the

first number. The largest number will be :
(A) 23 |

(B) 25°

(C) 27

(D) 21
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